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Instructions

=

This question paper consists of seven(7) pages including cover page.

P

Read the questions carefully before answering.

w

Answer ALL the questions.

»

Show all your calculations.
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QUESTION 1

1.1 | The equation of the straight line drawn below is:

A y=2x—2
B y=x+2
C y=-2x+2
D y=—x-—2

(2)

1.2. In APQR, QR is extended to S
The size of £Q is:

Q S
2z [/ 1z

4x
P
A 40°
B 200
C 140°
D 60° (2)
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1.3.

One of the properties of a Parallelogram is;

A All sides are equal

B Diagonals bisect each other
C Each angle is 90°

D Diagonals are equal in length

(2)

1.4.

Inthe right — angled triangle below; the value of y is;

OO0 @ >

3cm
12cm

(2)

1.5.

Why is ABAC= ABDC ?

A

A S,S,S
B 90°,H,S
C SAS
D AAS

(2)

[10]
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2.1. | On the Cartesian plane below, the graph y = mx + c is shown.
-5 & 5
" R
2.1.1 | Determine the values of the gradient m and the y- intercept ¢ (3)
2.1.2 | On the ANNEXURE provided, draw the graph of the straight line
represented by y = —2x — 4 (indicate all intercepts and label your (3)
graph CD)
2.1.3 | What can you deduce about the two graphs, AB and CD? Give a
reason for your answer. (2)
(8]
QUESTION 3
3.1. | Inthe figure below, ABC is a straight line. Calculate the size of the angle x.
E
D
75"
x 1\~ 3 55° (3)
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3.2. In the figure below, CS // PQ, AB= AC and CA S = 70° Calculate
WITH REASONS the size of the angles x, y and z. (6)
C ’ A S
2 1 ‘ 2 -
P “high C Q
3.3. | ABCDis a parallelogram.
A B
x + o0 }
3x—20
57 i /
C
3.3.1 | Calculate the value of x (3)
3.3.2 | Determine the size of angle (2)
3.4. | Inthe figure below, AB=AC and BD=DC.
D
B C
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3.4.1

Prove that AABD = A ACD.

(4)

3.4.2

Hence, prove that AD bisects BAC

(1)

[19]

QUESTION 4

4.1

In the diagram below, AC || DF, AB || CF, BE =8 cm, EC =10 cm and CF = 5 cm.
B

[N
A T

4.1.1

Prove that ADBE ||| AFCE

4.1.2

(4)

Hence, determine the length of DB.

(3)

[7]
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QUESTION 5
5.1. | Adiagram of a kite, ABCD with AB =5 cm, BE = 4cm, and DE = 10 cm, is given
below.
A
5cm
10cm
B dcm E D
c
5.1.1 Complete this statement; Diagonals of a kite intersect at an angle of ..... (1)
5.1.2 | Calculate the length of AE. (3)
5.1.3 | Calculate, with a reason, the length of the diagonal AC. (2)
(6]

TOTAL =50 marks
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QUESTION 1
11. |AW
1.2. | AW
1.3. [BWW
14. | C N
15. |[CW
[10]
QUESTION 2
22.1. | m= j_f:
_—4
%
== 3
c=4+ i

2.1.2.

3)

2.1.3. | The lines are parallel to each other V. The gradients of the two lines are | (2)
the same.

[8]
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QUESTION 3

3.1.

X+750 +550 = 1800V
x+130°= 180"V
x =180° - 130
x=50 Y

(3)

3.2,

z+x+y=1
z + 700 +70Q°
z =400V

=

(6)

3.3.1.

3x — 20"+ x + 80 =180" ( co-interior angles) VY
4x +60 =180
x=30" Y

3)

3.3.2.

D =3X --200

D = 3(30% —200v

D =70V

B =D (opposite angles of parallelogram are equal)
~ B =700y

(3)

3.4.1.

In AABD and A ACD

AB =AC (given) v

BD =CD (given)

AD=AD (common side) v
~ AABD = A ACD (S,S,5) V

(3)

3.4.2.

A1 = A2 (corresponding angles of congruent triangles) v

(1)

[19]
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QUESTION 4

411

In ADBE and AFCE.

D1=F (alternating angles) v
E1=E3 (vertical opposite angles) v
B = (> (alternating angles)Y

~ ADBE ||| AFCE (4,4,4) Y

41.2

DB _ BE
FC ~ CE

(3)

[7]

QUESTION 5§

5:1.1.

900

5.1.2.

AB2=BE2+ AE2V
52=42 + AE2 Y
25 =16 + AE2
AE2=9
AE =3cm?Y

3)

§5.1.3.

AE = EC (one diagonal bisects the other diagonal in a kite)¥
AC = AE + EC
= 3cm+ 3cm

=6cmV

(2)

[6]

TOTAL =50




